
This kit provides space for exposed storage 
beside base and peninsula base cabinets.

Fits
shelf end base (seb) can be installed next 
to any base or peninsula base cabinet. seb 
toe kick can be installed for left or right 
application. sepb can be installed next to 
any peninsula base cabinet.

SEB Contents
•	 Shelf	End	Base	(SEB)
•	 Toe	Kick	Unit	(not	attached)
•	 (2)	#8	x	1-1/8”	Mounting	Screws

SEPB Contents
•	 Shelf	End	Peninsula	Base	(SEPB)
•	 Toe	Kick	Unit	(not	attached)
•	 (2)	#8	x	1-1/8”	Mounting	Screws

Tools Needed
•	 Phillips	Screwdriver
•	 Drill
•	 Pencil
•	 3/32”	and	5/32”	Drill	Bits

Additional Items Needed (not included)
•	 (4)	#8	x	7/8”	Phillips	Pan	Head	Screws	

for	1/2”	thick	Side	Panels
•	 (4)	#8	X	1-1/8”	Phillips	Pan	Head	

Screws	for	3/4”	thick	Side	Panels
•	 3/4”	Wire	Brads	(for	extended	SEB	

configuration)

Shelf End Base (SEB) & Shelf End Peninsula Base (SEPB)
For Use Beside Base and Peninsula Base Cabinets

place toekick so that it lines up 
with	the	toekick	of	the	adjacent	
cabinet.	Position	the	SEB/SEPB	
against	the	adjacent	cabinet	and	
on top of the toe kick. Trace the 
edge of the toekick on the bottom 
of	the	SEB/SEPB.

Turn	the	SEB/SEPB	upside	down	
and put aside temporarily. in the 
top	of	the	toe	kick,	drill	two	 
5/32”	holes	opposite	the	large	
holes in the bottom. next, place 
the toekick onto the overturned 
SEB/SEPB	and	align	with	the	
previously	traced	marks.	Then	mark	the	hole	locations	on	the	SEB/SEPB	bottom.	Drill	pilot	
holes	at	the	marked	positions,	3/32”	diameter	x	3/8”	deep.

CAUTION: BE CAREFUL NOT TO DRILL THROUGH! Use	#8	x	1-1/8”	screws	
(provided)	and	attach	toe	kick	unit	to	SEB/SEPB.	HINT: Wrapping a piece of tape around 
the	drill	bit	7/8”	from	the	end	(1/2”	for	toe	kick	top	thickness	plus	3/8”	noted	above)	will	
give a visual stopping point for the correct depth to drill.

Drill	four	5/32”	diameter	holes	through	the	side	of	the	cabinet	adjacent	to	the	shelf	unit.	
They should be evenly spaced top to bottom and side to side near each corner. put seb 
or	SEPB	into	place,	aligning	the	toe	kick	with	toekick	of	adjacent	cabinet.	Mark	drilled	
locations	through	cabinet	sides	and	drill	pilot	holes	3/32”	diameter	x	3/8”	deep	in	shelf	
unit at these positions.

CAUTION: BE CAREFUL NOT TO DRILL THROUGH! Use	(4)	#8	x	7/8”	screws	(not	
included	for	1/2”	Side	Panels)	or	#8	X	1-1/8”	screws	(not	included	for	3/4”	Side	Panels)	
to	attach	the	SEB/SEPB	to	the	adjacent	cabinet,	and	your	new	SEB/SEPB	cabinet	is	ready	
to use.

1

2

3

Procedure

Shelf End Base (SEB)

Shelf End Peninsula Base (SEPB)

NOTE: Two	SEB	units	are	
needed for this configuration 
and they must be attached to 
each	other	as	well	as	to	the	
adjacent	cabinet.

See	Steps	1–3	for	attachment	
to	the	adjacent	cabinet.	
Use	(3)	3/4”	wire	brads	(not	
included) to attach the seb 
units together.

Extended SEB Configuration

99921			11/09

Installation Instructions    Read carefully before you begin installation

These insTrucTions should noT be fAxed or reproduced on A digiTAl copier. AmericAn WoodmArk corporATion provides These insTrucTions on An “As is” bAsis And disclAims Any And 
All liAbiliTy for Any inAccurAcies, omissions or TypogrAphicAl errors cAused by Any Third pArTy’s equipmenT. When you use these instructions, you are consenting to be bound by the provisions 
in	this	paragraph.	These	instructions	provide	an	illustrative	method	for	installing	American	Woodmark	Corporation	(“AWC”)	cabinets	and/or	accessories.	AWC’s	instructions	are	not	intended	to	address	every	possible	
contingency that might be encountered during installation or to endorse the use of any particular tools. AWc hereby expressly disclAims All liAbiliTy for Any clAims for inJury or deATh relATed To or 
bAsed upon The use of These insTAllATion insTrucTions And Any insTAllATion insTrucTions oTherWise provided by AWc.

Shelf End Base
Figure 1 

Adjacent
Peninsula 
Base Cabinet

3/4" Wire Brads

Figure 2

SEB

SEB

Top View

Shelf End Base
Figure 2 

Figure 1

Adjacent 
Base  
Cabinet

SEB

SEPB

Adjacent 
Peninsula 
Base Cabinet

#8 x 7/8" Screw (4 required per unit 
for 1/2" thick Side Panel)

#8 x 1-1/8" Screw (4 required per 
unit for 3/4" thick Side Panel)

Adjacent 
Base
Cabinet

SEB

Toe Kick Unit

Top View

Top View

#8 x 7/8" Screw (4 required per  
unit for 1/2" thick Side Panel)

#8 x 1-1/8" Screw (4 required per 
unit for 3/4" thick Side Panel)

#8 x 7/8" Screw  
(4 required per unit for 
1/2" thick Side Panel)

#8 x 1-1/8" Screw  
(4 required per unit for 
3/4" thick Side Panel)

II_99921_SEB-SEPB_11-09.indd   2 12/9/09   10:54:28 AM

10-0543-01E



Instrucciones de instalación    Lea con cuidado antes de comenzar la instalación

99921			11/09

esTAs insTrucciones no se deben enviAr por fAx ni se deben reproducir en unA copiAdorA digiTAl. AmericAn WoodmArk corporATion proporcionA esTAs insTrucciones “TAl como esTAn” 
y renunciA A cuAlquier y A TodA responsAbilidAd por cuAlquier fAlTA de precision, omision o error TipogrAfico cAusAdo por el equipo de TercerAs personAs. Al utilizar estas instrucciones, 
usted	está	aceptando	estar	sujeto	a	las	disposiciones	contenidas	en	este	párrafo.	Estas	instrucciones	proporcionan	un	método	ilustrativo	para	instalar	los	gabinetes	y/	o	accesorios	de	American	Woodmark	Corporation	
(“AWC”).	Las	instrucciones	de	AWC	no	tienen	por	objeto	resolver	toda	contingencia	posible	que	pudiera	presentarse	durante	la	instalación	ni	recomendar	el	uso	de	una	herramienta	en	particular.	POR	LA	PRESENTE,	
AWc renunciA expresAmenTe A TodA responsAbilidAd por cuAlquier reclAmAcion por lesiones o fAllecimienTo derivAdos del uso de esTAs insTrucciones de insTAlAcion y de oTrAs 
insTrucciones de insTAlAcion que AWc hAyA proporcionAdo de AlgunA oTrA formA.

Este	juego	le	proporciona	espacio	de	
almacenamiento abierto al lado de los 
gabinetes de base y de base de la península.

Compatibilidad
la base del extremo del estante (seb) se puede 
instalar	junto	a	cualquier	gabinete	de	base	o	de	
base de la península. el pie del seb se puede 
instalar	en	ambos	lados,	mientras	que	el	SEPB	
se	puede	instalar	junto	a	cualquier	gabinete	de	
base de la península.

Contenido del SEB
•	 Base	del	extremo	del	estante	(SEB)
•	 Unidad	del	pie	(no	fija)
•	 (2)	Tornillos	n.º	8	x	1-1/8”

Contenido del SEPB
•	 Base	en	península	del	extremo	del	estante	(SEPB)
•	 Unidad	del	pie	(no	fija)
•	 (2)	Tornillos	de	montaje	n.º	8	x	1-1/8”

Herramientas necesarias
•	 Destornillador	Phillips
•	 Taladro
•	 Lápiz
•	 Brocas	de	3/32”	y	5/32”	

Otros objetos necesarios (no incluidos)
•	 (4)	tornillos	de	cabeza	plana	Phillips,	de	 

#8	x	7/8”,	para	los	paneles	laterales	de	
1,27	cm	de	grosor

•	 (4)	tornillos	de	cabeza	plana	Phillips,	de	 
#8	X	1-1/8”,	para	los	paneles	laterales	 
de	1,91	cm	de	grosor

•	 Clavos	sin	cabeza	para	alambre	de	3/4”	
(Para	la	configuración	extendida	del	SEB)

Base del extremo del estante (SEB) & 
Base de la península del extremo del estante (SEPB)
Para usarse al lado de los gabinetes de base y de base en península

Coloque	el	pie	de	modo	que	quede	
alineado con el pie del gabinete 
adyacente.	Coloque	el	SEB/SEPB	
contra el gabinete adyacente y la 
parte superior del pie. Trace el borde 
del pie en la parte inferior del  
SEB/SEPB.

Voltee	el	SEB/SEPB	boca	abajo	y	
póngalo	a	un	lado.	En	la	parte	
superior	del	pie,	haga	dos	agujeros	
de	5/32”	enfrente	de	los	agujeros	
grandes de la parte inferior. luego, 
coloque	el	pie	en	el	SEB/SEPB	volteado	
y	alinéelo	con	las	marcas	que	trazó	
anteriormente.	A	continuación,	marque	
el	lugar	de	los	agujeros	en	la	parte	
inferior	del	SEB/SEPB.	Perfore	agujeros	
guía	de	3/32”	de	diámetro	X	3/8”	de	
profundidad	en	las	posiciones	que	
marcó.	PRECAUCION: ASEGURESE 
DE NO ATRAVESAR LA UNIDAD.	Use	los	tornillos	n.º	8	X	1-1/8”	(incluidos)	y	fije	la	unidad	
del	pie	al	SEB/SEPB. SUGERENCIA:	Enrolle	un	pedazo	de	cinta	alrededor	de	la	broca	a	7/8”	de	
distancia	del	extremo	(a	1/2”	en	el	caso	de	la	parte	superior	del	pie	más	los	3/8”	que	se	mencionan)	
para	que	tenga	una	referencia	visual	de	la	profundidad	que	debe	perforar.

Perfore	cuatro	agujeros	de	5/32”	de	diámetro	en	el	lado	del	gabinete	adyacente	a	la	unidad	del	
estante	de	forma	que	queden	espaciados	de	manera	uniforme	de	arriba	hacia	abajo	y	de	lado	a	lado	
cerca	de	cada	una	de	las	esquinas.	Coloque	el	SEB/SEPB	en	su	lugar,	alineando	el	pie	de	éstos	con	el	
pie	del	gabinete	adyacente.	Marque	los	lugares	que	perforó	en	la	parte	lateral	del	gabinete	y	perfore	
agujeros	guía	de	3/32”	de	diámetro	X	3/8”	de	profundidad	en	la	unidad	del	estante	en	estos	lugares.	 
PRECAUCION: ASEGURESE DE NO ATRAVESAR LA UNIDAD.	Use	(4)	tornillos	de	#8	x7/8”	
(no	incluidos	para	los	paneles	laterales	de	1,27	cm),	o	tornillos	de	#8	X	1-1/8”	(no	incluidos	para	
los	paneles	laterales	de	1,91	cm),	para	fijar	la	base	de	extremo	de	repisa	(SEB,	por	sus	siglas	en	
inglés)	o	la	base	para	península	de	extremo	de	repisa	(SEPB,	por	sus	siglas	en	inglés)	al	gabinete	
adyacente	y	su	nueva	SEB/SEPB	estará	lista	para	usarse.

1

2

3

Procedimiento

NOTA:	Para	está	configuración	
se necesitan dos unidades seb 
que	deben	ir	fijas	entre	sí,	así	
como al gabinete adyacente.

Vea	los	pasos	1	a	3	para	fijar	las	
unidades al gabinete adyacente. 
Use	(3)	clavos	sin	cabeza	para	
alambre	de	3/4”	(no	incluidos)	
para	fijar	las	unidades	SEB.

Configuración extendida del SEB

Shelf End Base
Figure 1 

Gabinete 
de basede 
península
adyacente

Clavos sin cabeza para alambre  
de 3/4"

SEB

SEB

Tornillos de #8 x 7/8” 
(se necesitan 4 por 
unidad para los paneles 
laterales de 1,27 cm de 
grosor)

Tornillos de #8 x 1-1/8” 
(se necesitan 4 por 
unidad para los paneles 
laterales de 1,91 cm de 
grosor)

Vista superior
Figura 2

Base del extremo del estante (SEB)

Base de península del extremo del estante (SEPB)

Shelf End Base
Figure 2 

Figura 1

Gabinete  
debase 
adyacente

SEB

SEPB

Gabinete  
debase de
península
adyacente

Tornillos de #8 x 7/8” (se necesitan 4 
por unidad para los paneles laterales de 
1,27 cm de grosor)

Tornillos de #8 x 1-1/8” (se necesitan 4 
por unidad para los paneles laterales de 
1,91 cm de grosor)

Gabinete
de base
adyacente

SEB

Unidad del pie

Top View

Top View

Tornillos de #8 x 7/8” (se necesitan  
4 por unidad para los paneles laterales 
de 1,27 cm de grosor)

Tornillos de #8 x 1-1/8” (se necesitan  
4 por unidad para los paneles laterales 
de 1,91 cm de grosor)

II_99921_SEB-SEPB_11-09.indd   3 12/9/09   10:54:29 AM

10-0543-02E


